

Divide by 10^{-1} (D)

Find each quotient.

$$2,68 : 10^{-1} =$$

$$3,2 : 10^{-1} =$$

$$4,8 : 10^{-1} =$$

$$2,4 : 10^{-1} =$$

$$4,0482 : 10^{-1} =$$

$$0,66 : 10^{-1} =$$

$$1,1 : 10^{-1} =$$

$$2,9 : 10^{-1} =$$

$$3,2 : 10^{-1} =$$

$$3,8626 : 10^{-1} =$$

$$8,85 : 10^{-1} =$$

$$3,6 : 10^{-1} =$$

$$3,861 : 10^{-1} =$$

$$8,591 : 10^{-1} =$$

$$2,992 : 10^{-1} =$$

$$2,4 : 10^{-1} =$$

$$8,6836 : 10^{-1} =$$

$$5,7 : 10^{-1} =$$

$$1,12 : 10^{-1} =$$

$$4,82 : 10^{-1} =$$

Divide by 10^{-1} (D) Answers

Find each quotient.

$$2,68 : 10^{-1} = 26,8$$

$$3,2 : 10^{-1} = 32$$

$$4,8 : 10^{-1} = 48$$

$$2,4 : 10^{-1} = 24$$

$$4,0482 : 10^{-1} = 40,482$$

$$0,66 : 10^{-1} = 6,6$$

$$1,1 : 10^{-1} = 11$$

$$2,9 : 10^{-1} = 29$$

$$3,2 : 10^{-1} = 32$$

$$3,8626 : 10^{-1} = 38,626$$

$$8,85 : 10^{-1} = 88,5$$

$$3,6 : 10^{-1} = 36$$

$$3,861 : 10^{-1} = 38,61$$

$$8,591 : 10^{-1} = 85,91$$

$$2,992 : 10^{-1} = 29,92$$

$$2,4 : 10^{-1} = 24$$

$$8,6836 : 10^{-1} = 86,836$$

$$5,7 : 10^{-1} = 57$$

$$1,12 : 10^{-1} = 11,2$$

$$4,82 : 10^{-1} = 48,2$$